

1st Birthday

We appreciate your business.

Customer

Patresa Cornelius 979-999-9999 **Invoice Details**

PDF created May 15, 2024 \$209.00

Service date January 6, 2024

Payment

Due May 15, 2024 \$209.00

Items	Quantity	Price	Amount
6" Cake	1	\$70.00	\$70.00
Dipped Pretzel Rods	1	\$25.00	\$25.00
Dipped Rice Krispies	1	\$25.00	\$25.00
Custom Sugar Cookie Cutouts	1	\$40.00	\$40.00
Toppers Customer toppers for cake, cupcakes, and treats	1	\$40.00	\$40.00
Individual Wrapping	3	\$3.00	\$9.00
Subtotal			\$209.00

Total Due \$209.00





Christmas Party

Thank you for the opportunity to bake your special event sweet. We appreciate your business.

Customer

Love's Travel Shop - Attention: Robert Sandovol

Rest234@loves.com

Invoice Details

PDF created May 15, 2024

\$166.40

Service date December 12, 2023

Payment

Due December 11, 2023

\$166.40

Items	Quantity	Price	Amount
Custom Cake	1	\$160.00	\$160.00
Candy Land Christmas Themed Cake Flavor: Vanilla Colors: Pastel and Bold **Make cake over the top extra**			
Processing Fee	1	\$6.40	\$6.40
Subtotal			\$166.40
Total Paid			\$166.40
Payments			
Dec 11, 2023 (Visa 4030)			\$166.40





We appreciate your business.

Customer

Veronica Kennedys Mon 832-859-8749 **Invoice Details**

PDF created May 15, 2024 \$50.00

Service date November 10, 2023

Payment

Due May 15, 2024 \$50.00

Items	Quantity	Price	Amount
Banana Pudding Cheesecake Marine logo	1	\$45.00	\$45.00
Custom marine topper	1	\$5.00	\$5.00
Subtotal			\$50.00

Total Due \$50.00





Birthday

We appreciate your business.

Customer

Alyssa 979-578-2730 **Invoice Details**

PDF created May 15, 2024 \$80.00

Service date December 9, 2023

Payment

Due May 15, 2024

\$80.00

Items	Quantity	Price	Amount
Custom Sugar Cookies	2	\$40.00	\$80.00
Subtotal			\$80.00

Total Due \$80.00





Birthday

We appreciate your business.

Customer Katherine Davis kaedavis153@gmail.com

254-415-5130

Invoice Details
PDF created May 15, 2024
\$190.00
Service date December 2, 2023

Payment

Due May 15, 2024 \$190.00

Items	Quantity	Price	Amount
Oreos	2	\$25.00	\$50.00
This is for basic Dipped Oreos. If you would like them to be specific, please complete the Specialty Order Form.			
Milk Chocolate White Chocolate Navy Blue			
Infused Fruit	2	\$35.00	\$70.00
Per dozen. Liquor or wine infused. Once this order has been placed, I will contact you for Alcohol choice.			
Mango Dozen - Tequila Strawberry Dozen - Tequila			
Add Pippets			
6" Cake	1	\$70.00	\$70.00
Lemon Cake- Blackberry Filling			
Subtotal			\$190.00

Total Due \$190.00





13th Birthday

We appreciate your business.

Customer Shadel Engler 713-515-5549 Invoice Details
PDF created May 15, 2024
\$75.00

Service date October 10, 2023

Payment

Due May 15, 2024 \$75.00

Items	Quantity	Price	Amount
6" Cake White on white with flowers	1	\$75.00	\$75.00
Subtotal			\$75.00

Total Due \$75.00





Birthday

We appreciate your business.

Customer Katie Krenek 979-451-3213 Invoice Details
PDF created May 15, 2024
\$72.00
Service date October 21, 2023

Payment
Due May 15, 2024
\$72.00

Items	Quantity	Price	Amount
Cupcakes Pull Apart Dress Shaped Cupcakes Frozen Themed Half Vanilla / Half Chocolate	2	\$25.00	\$50.00
Frozen Decor	1	\$22.00	\$22.00
Subtotal			\$72.00

Total Due \$72.00



view.



Glamping Theme Birthday

We appreciate your business.

Customer
Tiffany Shannon
979-277-4093

Invoice Details
PDF created May 15, 2024
\$130.00
Service date October 21, 2023

Payment
Due May 15, 2024
\$130.00

Items	Quantity	Price	Amount
8" Cake 8" 3 Layer Vanilla Glamping Themed Cake	1	\$90.00	\$90.00
Fondant Work	1	\$40.00	\$40.00
Subtotal			\$130.00

Total Due \$130.00





80th Birthday

We appreciate your business.

Customer

Dr. Baird 979-203-3292 **Invoice Details**

PDF created May 15, 2024 \$144.00

Service date September 22, 2023

Payment

Due May 15, 2024

\$144.00

Items	Quantity	Price	Amount	
Cupcakes	1	\$30.00	\$30.00	
Cake Pops	12	\$2.00	\$24.00	
8" Cake	1	\$90.00	\$90.00	
Subtotal			\$144.00	

Total Due \$144.00





40th Bday

We appreciate your business.

Customer

Cassie 979-999-9999 **Invoice Details**

PDF created May 15, 2024

\$150.00

Service date October 21, 2023

Payment

Due May 15, 2024

\$150.00

Items	Quantity	Price	Amount
2 Tier Cake 6" / 8" Black Rose Gold 40 and Fabulous	1	\$150.00	\$150.00
Subtotal			\$150.00

Total Due \$150.00





2nd Bday Party African Flintstone Theme

We appreciate your business.

Customer

Phylicia Gooden 979-574-6081 **Invoice Details**

PDF created May 15, 2024 \$364.00

Service date October 22, 2023

Payment

Due May 15, 2024 \$364.00

Items	Quantity	Price	Amount
2 Tier Cake Top Tier - Funfetti Bottom Tier - Vanilla	1	\$200.00	\$200.00
Feeding 50-75 People			
Cupcakes Strawberry - No real strawberries	2	\$25.00	\$50.00
Dipped Pretzels	2	\$22.00	\$44.00
Custom Sugar Cookies	2	\$30.00	\$60.00
Custom Cake Topper and Cupcake pics	1	\$10.00	\$10.00
Subtotal			\$364.00

Total Due \$364.00





Senior Serve

We appreciate your business.

Customer Monica Anderson 979-999-9999 Invoice Details
PDF created May 15, 2024
\$90.00
Service date September 22, 2023

Payment
Due May 15

Due May 15, 2024 \$90.00

Items	Quantity	Price	Amount
Cupcake Reeces Topping	1	\$30.00	\$30.00
Dessert cups Key Lime Cake	2	\$6.00	\$12.00
Dessert cups Banana Pudding Cake	3	\$6.00	\$18.00
Dessert cups Red Velvet Cake	4	\$6.00	\$24.00
Dessert cups Snickers Cake	3	\$6.00	\$18.00
Multiple Cups			-\$12.00
Subtotal			\$90.00

Total Due \$90.00





Senior Serve

We appreciate your business.

Customer
Jennifer Flentge
979-877-8703

Invoice Details
PDF created May 15, 2024
\$140.00
Service date September 22, 2023

Payment
Due May 15, 2024
\$140.00

Items	Quantity	Price	Amount
Custom Sugar Cookies 1 Dozen Football 1 dozen Class Of	2	\$25.00	\$50.00
Cupcake Oreo Topped	1	\$30.00	\$30.00
Dessert cups Banana Pudding Cake	12	\$6.00	\$72.00
Discount			-\$12.00
Subtotal			\$140.00

Total Due \$140.00





We appreciate your business.

Customer
Jessica Johnson
979-999-9999

Invoice Details
PDF created May 15, 2024
\$225.00

Payment
Due May 15, 2024

\$225.00

Items	Quantity	Price	Amount
Smash Cake	1	\$50.00	\$50.00
2 Tier Cake Vanilla 4" / 6"	1	\$125.00	\$125.00
Rush Fee	1	\$50.00	\$50.00
Subtotal			\$225.00

Total Due \$225.00





Birthday

We appreciate your business.

Customer Genieva Holloway

BSSLC 254-415-8506 **Invoice Details**

PDF created May 15, 2024

\$85.00

Service date September 8, 2023

Payment

Due May 15, 2024

\$85.00

Items	Quantity	Price	Amount
6" Cake The Haunted Mansion Vanilla	1	\$60.00	\$60.00
Fondant Wallpaper	1	\$10.00	\$10.00
Fondant Roses	1	\$10.00	\$10.00
Cutouts	1	\$5.00	\$5.00
Subtotal			\$85.00

Total Due \$85.00





Smash Cake

We appreciate your business.

Customer Mirella Antunes 979-549-4029 Invoice Details
PDF created May 15, 2024
\$75.00
Service date August 29, 2023

Payment

Due May 15, 2024 \$75.00

Items	Quantity	Price	Amount
Smash Cake Thomas the Train Vanilla 6"	1	\$75.00	\$75.00
Subtotal			\$75.00

Total Due \$75.00



view.



7th Birthday

We appreciate your business.

Customer

Natalie 337-368-1492 **Invoice Details**

PDF created May 15, 2024

\$174.00

Service date September 6, 2023

Payment

Due May 15, 2024

\$174.00

Items	Quantity	Price	Amount
2 Tier Cake	1	\$75.00	\$75.00
Individual Wrapping	2	\$5.00	\$10.00
Decorations	1	\$20.00	\$20.00
Cake Pops	6	\$1.50	\$9.00
Custom Sugar Cookies	2	\$30.00	\$60.00
Subtotal			\$174.00

Total Due \$174.00





8th Birthday

We appreciate your business.

Customer Katie Krenek 979-451-3213 Invoice Details
PDF created May 15, 2024
\$120.00
Service date September 23, 2023

Payment
Due May 15, 2024
\$120.00

Items	Quantity	Price	Amount
2 Tier Cake 6/8 Chocolate / Vanilla	1	\$120.00	\$120.00
Barbie Themed			
Put Lexi in replace of Barbie			
Subtotal			\$120.00

Total Due \$120.00





Twins 2nd Birthday

We appreciate your business.

Customer

Monica Anderson 979-999-9999 **Invoice Details**

PDF created May 15, 2024 \$195.00

Service date September 16, 2023

Payment

Due May 15, 2024

\$195.00

Quantity	Price	Amount
1	\$0.00	\$0.00
	·	·
1	\$125.00	\$125.00
2	\$25.00	\$50.00
2	\$10.00	\$20.00
		\$195.00
	1 1 2	1 \$0.00 1 \$125.00 2 \$25.00

Total Due \$195.00





We appreciate your business.

Customer

Nikki 979-999-9999 **Invoice Details**

PDF created May 15, 2024

\$102.00

Service date September 7, 2023

Payment

Due May 15, 2024

\$102.00

Items	Quantity	Price	Amount
6" Cake Don Julio	1	\$60.00	\$60.00
Vanilla			
Strawberries 1/2 Dozen	1	\$12.00	\$12.00
Don Julio 375ml	1	\$30.00	\$30.00
Subtotal			\$102.00

Total Due \$102.00





We appreciate your business.

Customer

Nikki

979-999-9999

Invoice Details

PDF created May 15, 2024

\$75.00

Service date September 4, 2023

Payment

Due May 15, 2024

\$75.00

Items	Quantity	Price	Amount
Half Sheet Cake 50 & Fabulous Colors of Pink Vanilla / Chocolate	1	\$75.00	\$75.00
Subtotal			\$75.00

Total Due \$75.00





1st Bday

We appreciate your business.

Customer

Lashanda Tompkins 979-999-9999 **Invoice Details**

PDF created May 15, 2024 \$100.00

Service date September 2, 2023

Payment

Due May 15, 2024

\$100.00

Items	Quantity	Price	Amount
Smash Cake	1	\$50.00	\$50.00
Minnie Safari Themed			
Rice Krispy Treats	1	\$25.00	\$25.00
This is for basic Dipped Rice Krispies. If you would like them to be specific, please complete the Specialty Order Form.			
Marshmallows	1	\$18.00	\$18.00
Per dozen. Specialty themed orders need a 2/3 week advance notice to ensure all the needed supplies. 50% deposit is required at the time of booking with the remainder due at time of pick up/delivery			
Customizations	1	\$7.00	\$7.00
Cutouts for treats and Cake			
Subtotal			\$100.00

Total Due \$100.00





We appreciate your business.

Customer Charlisa Gibbs 979-412-4353 Invoice Details
PDF created May 15, 2024
\$170.00
Service date August 10, 2023

Payment

Due May 15, 2024 \$170.00

Quantity	Price	Amount
2	\$35.00	\$70.00
1	\$100.00	\$100.00
		\$170.00

Total Due \$170.00





We appreciate your business.

Customer

Christina Thompson 979-999-9999 **Invoice Details**

PDF created May 15, 2024 \$135.00

Service date August 5, 2023

Payment

Due May 15, 2024

\$135.00

Items	Quantity	Price	Amount
2 Tier Cake 6 / 8 To feed 75 People Color: White/Sage	1	\$115.00	\$115.00
Vanilla top layer chocolate bottom layer			
NO FONDANT			
Flowers	1	\$20.00	\$20.00
Subtotal			\$135.00

Total Due \$135.00





We appreciate your business.

Customer Genieva Holloway BSSLC 254-415-8506 Invoice Details
PDF created May 15, 2024
\$209.00

Payment

Due May 15, 2024

\$209.00

Items	Quantity	Price	Amount
Custom Sugar Cookie Cutouts **MUST BE SPECIAL ORDERED - PLEASE COMPLETE THE SPECIAL ORDER FORM***	3	\$33.00	\$99.00
Buttercream icing or royal icing. Custom decorated gourmet sugar cookies perfect for any occasion! Each delicious cookie is made to order. The standard size cookie ranges from 3.5 - 4.5 inches. Regular (\$30.00 ea.) + Royal Icing + Individually Wrapped (Per Dozen) (\$3.00 ea.)			
Cupcakes Thia is for basic cupcakes with frosting. If you would like them to be them specific, please complete the Specialty Order Form. + Flavor 1	2	\$20.00	\$40.00
One Tier Cakes Specialty themed orders need a 2/3 week advance notice to ensure all the needed supplies. 50% deposit is required at the time of booking with the remainder due at time of pick up/delivery 8" + Vanilla	1	\$60.00	\$60.00
Added cake cost and coconut flavoring with cupcake pics	1	\$10.00	\$10.00
Subtotal			\$209.00





Total Due \$209.00





Quince

We appreciate your business.

Customer

Lenora Valdez 979-661-4980 **Invoice Details**

PDF created May 15, 2024

\$750.00

Service date August 19, 2023

Payment

Due May 15, 2024

\$750.00

Items	Quantity	Price	Amount
Three Tier Cake 10/8/6	1	\$350.00	\$350.00
Three tier cake sitting on pillars with fountain underneath. Cake Flavors:			
Chocolate, Strawberry, Funfetti			
6" Cake 4 outer cakes	1	\$200.00	\$200.00
Flavor: Red Velvet and Vanilla			
Fountain and Stairwell	1	\$105.00	\$105.00
Flowers & Butterflies add bling ribbon	1	\$30.00	\$30.00
Delivery and set up	1	\$65.00	\$65.00
Subtotal			\$750.00

Total Due \$750.00





Pool Party

We appreciate your business.

Customer

Erica Penrice 979-999-9999 **Invoice Details**

PDF created May 15, 2024

\$105.00

Service date July 15, 2023

Payment

Due May 15, 2024

\$105.00

Items	Quantity	Price	Amount
Custom Cutouts	3	\$30.00	\$90.00
Per dozen. Buttercream icing or royal icing. Specialty themed orders need a 2/3 week advance notice to ensure all the needed supplies. 50% deposit is required at the time of booking with the remainder due at time of pick up/delivery Beach Ball Splish Splash #2 & #5	3	\$30.00	φ90.00
Complexity	3	\$5.00	\$15.00
Subtotal			\$105.00

Total Due \$105.00





Baby Shower

We appreciate your business.

Customer

Charlisa Gibbs 979-412-4353 **Invoice Details**

PDF created May 15, 2024 \$174.00

Service date July 1, 2023

Payment

Due May 15, 2024

\$174.00

Items	Quantity	Price	Amount
Sugar Cookie Cutouts Basketball themed baby shower sugar cookies Decorated with Royal Icing	2	\$40.00	\$80.00
Onesie- Baby Tates Dipped Rice Krispies Regular (\$22.00 ea.) + Individually Wrapped (\$3.00)	2	\$25.00	\$50.00
Popcorn Balls	2	\$22.00	\$44.00
Subtotal			\$174.00

Total Due \$174.00



view.



Birthday

We appreciate your business.

Customer

Estivaly 979-551-3612

Invoice Details

PDF created May 15, 2024

\$175.00

Service date May 27, 2023

Payment

Due May 15, 2024

\$175.00

Items	Quantity	Price	Amount
2 Tier Cake 6 / 8 Toy Story	1	\$175.00	\$175.00
Adamari 2 Aundre 3			
Subtotal			\$175.00

Total Due \$175.00

